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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1510 4.5 0.8 5 89.2 100
2 1508 1.4 1 5 27.9 99.9
3 1510 3.7 0.6 4 92.7 100
4 1509 2.9 1.2 5 57.3 99.9
5 1505 1.6 1.1 5 32.4 99.7
6 1509 3.8 0.9 6 63.2 99.9
7 1489 0.4 0.7 5 8.4 98.6
8 1502 0.8 0.9 5 15.5 99.5
9 1486 1.6 1.2 5 31.4 98.4
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question 2 [5] 


Pauline : Mes loisirs ? Je me passionne pour les émissions de téléréalité.  
Le samedi, j’adore regarder les émissions comme « Danse avec les stars » . 
Le mercredi, c’est « Cauchemar en cuisine » , mais je ne suis pas fan. 
Je préfère lire ou dessiner.  
Le vendredi soir je sors avec mes copains. 


(a) leisure/(her) pastimes/how she relaxes/(her) free time/her passion(s)


(b) 


(i) Saturday


Write one detail.


watches programmes/watches 
(dance) shows/television (1) 


(ii) Wednesday


Write two details.


• reads
• watches cooking programmes


or shows
• draws (any 2 out of 3) (2)


(iii) Friday


Write one detail.


Goes out (with friends) (1)
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Sticky Note

Question 2 
(a) 0
(b) (i) 0
(b) (ii) 0
(b) (iii) 1
Total 1/5



Sticky Note

2 (a) incorrect. Many candidates had problems identifying the overall message here which is "leisure" or "pastimes", writing the first thing they hear which in this case is "reality TV".



Sticky Note

2 (b) (i) incorrect. The correct answer is "watching dance shows/programmes".
Simply writing "watching dance" makes the answer ambiguous.



Sticky Note

2 (b) (ii) incorrect answers. These are guesses as "swimming/shopping" do not appear in the transcript



Sticky Note

2 (b) (iii) correct
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Sticky Note

Question 2
(a) 0
(b) (i) 0
(b) (ii) 1
(b) (iii) 0
Total 1/5



Sticky Note

Question 2 (a) incorrect. This candidate was on the right track as she does talk about what she loves on TV but the idea of identifying the overall message has not been grasped.



Sticky Note

Question 2 (b) (i) incorrect. "history videos" is contradicting the transcript as it is actually "watching dance shows" that she loves.



Sticky Note

Question 2 (b) (ii) reading and drawing are correct answers, however, the candidate has given an extra incorrect response with "cooks the meal in the kitchen". This leads to 2 marks being given for the correct answers and one being subsequently taken away for the incorrect additional answer, i.e. 2-1=1



Sticky Note

Question 2 (b) (iii) incorrect. The correct answer must contain "goes out/went out (with friends)
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Sticky Note

Question 2

(a) 1
(b) (i) 0
(b) (ii) 0
(b) (iii) 1

Total 2/5



Sticky Note

Question 2 (a) "her passions" is a variation of the correct answer.



Sticky Note

Question 2 (b) (i) "watches dances" is incorrect. It has to be "watches TV" or  "watches dance programmes/shows"



Sticky Note

Question 2 (b) (ii) incorrect. Art is not sufficient, it has to be "draws" or "drawing".



Sticky Note

Question 2 (b) (iii) "go out with her friends" is the correct answer.
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Question 2	 [5]


Listen to Pauline. Answer the questions in English.


(a) What is Pauline talking about? [1]


(b) What does Pauline do on these days? Complete the key information.


(i) Saturday


Write one detail.
[1]


(ii) Wednesday


Write two details.
•


•
[2]


(iii) Friday


Write one detail.
[1]
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Question 5 [5] 


Section 1 


L’année dernière j’ai passé un trimestre comme pensionnaire dans un lycée français. La 
journée commençait à huit heures. C’était beaucoup trop tôt.  Quel choc !  Et puis presque 
tout le monde rentrait chez eux pour le déjeuner, certains élèves allaient au café, mais moi, 
je ne sortais pas. 


Section 2 


Et puis il y avait beaucoup de devoirs ce qui était très barbant. À la fin de la journée, à six 
heures, j’étais hyper fatiguée. Mais j’ai adoré les filles de ma classe.  Elles m’aidaient 
toujours à comprendre le français et m’expliquaient les textes difficiles. 


Section 1 


(a) Maria was shocked by the early start (of lessons/classes). (1) 


(b) She ate her lunch at school/the canteen the dining hall (1) 


Section 2 


(c) Maria was particularly bored by the homework. (1) 


(d) Maria found the day exhausting/(very/extremely) tiring. (1) 


(e) The girls in Maria's class were helpful/kind/nice/lovely (refuse amiable). (1)
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		INTRODUCTION










Sticky Note

(a) 0
(b) 0
(c) 1
(d) 1
(e) 0
Total 2/5



Sticky Note

Section 1 (a) incorrect. "wake up" does not make sense grammatically. The word "start" is required.



Sticky Note

Section 1 (b) incorrect. Many candidates mistakenly put a particular time for this question. School is the correct answer. 



Sticky Note

Section 2 (c) correct. Many candidates wrote the correct answer, presumably "devoirs" is a word which has been known to them since the beginning of their study.



Sticky Note

Section 2 (d) correct. 



Sticky Note

Section 2 (e) incorrect. Candidates mistook "les textes difficiles" for the girls being difficult. The correct answer being "helpful/kind/nice"





		c2ft1

		c2ft2

		c2ft3

		c2ft4

		c2ft5

		c2ft6

		c2ft7

		c2ft8

		c2ft9

		c2ft10

		Blank Page










Sticky Note

Question 5 Section 1 
(a) 0
(b) 0

Section 2
(c) 1
(d) 1
(e) 1

Total 3/5



Sticky Note

Question 5 Section 1 (a) incorrect. The candidate mistook the false friend "journée" for journey.



Sticky Note

Question 5 Section 1(b) incorrect. The candidate has heard "à huit heures" and  answered the question with the time instead of "school". It is unlikely that lunch would be eaten at this time which may be worth pointing out to future candidates.



Sticky Note

Question 5 Section 2 (c) "homework" is the correct answer.



Sticky Note

Question 5 Section 2 (d) "tiring" is the correct answer.



Sticky Note

Question 5 Section 2 (e) "lovely" is an acceptable answer for this question, along with "nice/kind/helpful".
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Sticky Note

Question 5 
(a) 1
(b) 0
(c) 1
(d) 1
(e) 1

Total 
4/5




Sticky Note

Question 5 Section 1 (a) "start" is the correct answer.



Sticky Note

Question 5 Section 1 (b) Cafe is incorrect.



Sticky Note

Question 5 Section 2 (c) "homework" is correct,.



Sticky Note

Question 5 Section 2 (e) "tiring" is the correct answer.



Sticky Note

Question 5 Section 2 (e) "very nice" is a correct variation.
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Question 5	 [5]


Listen to Maria speaking. Complete the sentences in English.


Section 1


(a)	 Maria was shocked by the early . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ..	 [1]


(b)	 She ate her lunch at . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ..	 [1]


Section 2


(c) Maria was particularly bored by the . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ..	 [1]


(d) Maria found the day . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ..	 [1]


(e) The girls in Maria’s class were . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ..	 [1]
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Question 8 [5] 


Section 1 


Bonjour, Madame. Je suis Rachel.  J’ai vu votre petite annonce. Vous cherchez quelqu’un 
qui parle anglais et français pour garder vos enfants, n’est-ce pas ? Depuis toujours, je rêve 
de travailler avec les petits.  J’adore jouer avec eux. Mais, je pense aussi que la discipline 
est importante et les enfants doivent apprendre la politesse. 


Section 2 


J’ai déjà travaillé en Suisse. Je ne suis pas encore bilingue, mais j’apprends vite. Je pense 
que dans trois mois je parlerai très bien le français, si votre famille veut bien m’aider un peu. 
À mon avis je suis très travailleuse et j’espère que vous allez considérer ma demande. 


Section 1 


(a) about/for/replying to an ad/advertisement/about a job/applying for a job/to work (1)


(b) politeness/courtesy/(good) manners/to be polite (1) 


Section 2 


(c) not quite (yet)/nearly/almost bilingual (1) 


(d) (she will) speak (French) very/really well (1) 


(e) (she is) hard working/a hard worker/(she) works hard (1)
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Sticky Note

Question 8 
Section 1
(a) 0
(b) 0
Section 2
(c) 0
(d) 0
(e) 0
Total 0/5



Sticky Note

Question 8 Section 1(a) incorrect. The candidate has heard "parle français" in the transcript and assumed that she needs to speak French.



Sticky Note

Question 8 Section 1 (b) incorrect. Whilst Rachel thinks that discipline is important, she thinks that children should learn "politeness"



Sticky Note

Question 8 Section 2 (c) incorrect. Correct answer is "she is not bilingual".



Sticky Note

Question 8 section 2 (d) incorrect. Candidates have to say "she will speak very good French" or "she will speak French very well".



Sticky Note

Question 8 Section 2 (e) incorrect. Maybe the candidate mistook "travailleuse" for "heureuse"



oatlem

Sticky Note

Marked set by oatlem



oatlem

Sticky Note

Marked set by oatlem
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Sticky Note

Question 8 
(a) 0
(b) 0
(c) 0
(d) 0
(e) 1

Total 1/5



Sticky Note

Question 8 Section 1 (a) incorrect. Many candidates wrote "announcement" not realising that "petite annonce" means advertisement".



Sticky Note

Question 8 Section 1 (b) incorrect. Although Rachel thinks that discipline is important, it is politeness that she thinks they must learn.



Sticky Note

Question 8 Section 2 (c) incorrect. Have to have "she is not bilingual".



Sticky Note

Question 8 Section 2 (d) incorrect. The correct answer states that she will speak very good French or will speak French very well.



Sticky Note

Question 8 Section 2 (e) correct. Her main quality is that she is hard working.
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Sticky Note

Question 8
(a) 0
(b) 0
(c) 1
(d) 0
(e) 0

Total 1/5



Sticky Note

Question 8 Section 1 (a) incorrect. We need to have the idea that Rachel is responding to an advert/applying for a job.



Sticky Note

Question 8 Section 1 (b) Incorrect. Whilst having "discipline is important", Rachel thinks that "children must learn politeness".



Sticky Note

Question 8 Section 2 (c) "not bilingual yet" is a correct answer.



Sticky Note

Question 8 Section 2 (d) "be able to speak French" is incorrect. The correct answer must convey that she will be able to speak very good French.



Sticky Note

Question 8 Section 2 (e) This is not attempted so does not earn a mark.
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Question 8	 [5]


Listen to Rachel talking on the telephone. Answer the questions in English.


Section 1


(a) Why is Rachel telephoning? [1]


(b) What quality does she think children must learn? [1]


Section 2


(c) What is her level of French now? [1]


(d) What will happen in three months? [1]


(e) What is her main quality? [1]











